}[1/GeV]

1
dsd

Ratio to ATLAS

ao™
2 t,1
d {pT cdot Ness

=
o
R

|
o
G

1074

[EEY

0.5

13000 GeV pp

_| I T I T | T I T I I |_ 9
top é
pT (ATLAS ttbar) D
— —=
— m  ATLAS 4
— --O-- Herwig++ 2.7.1 default N
| --3-- Herwig 7.2.1 default =
—
- o
®
— =
2=h =
G
L /,/ [ | ‘\\ ]
— / Q. 7
L b ]
- / 1
— —™
B / A5
/ <
' @
L F, s
@ o
B =
X
. S,
= M 35
~ © =
— m Ja
| 1°
[%)]
- 15
o
— — o
| . . . ] . . . || E
:l T T T T | T T T |:
— =2
- B . B =
B @gg S Q 7
g 1
| —0.5
| 1 1 " 1 1 " | " 1 " 1 1 " |
0 500 1000



	Contents
	Page 1


